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[ REANH3(g) + 502(g) = 4NO(g) + 6H20(g)7E I0LI) 25 FI & 38 AT 8, KSR
HIEIEHN T 0.45mol, Tk ML E) P33 Rv(X) FTRARA ()

A.v(NH3) = 0.01mol-L- 1-s-1 B.v(02) = 0.001 mol-L- 1-s-1

C.v(NO) = 0.001 mol-L- 1-s-1 D.v(H20) = 0.045 mol-L- Is-1
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A. 1.2mol'L-1'min-1 B. 0.02mol-L-1-mim+1

C. 1.8mol-L-1'min-1 D. 0.18molL-1-min-1
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C. £ 5 A28 DI AT B R B C(s)AH20(2)=CO(g)+H2(g), ANC(s)HI B IERARZ
D. FAEE R ME 2 0. 5mol/(Is:s) A& 18 1% [ SLTE 1s B FE 4 5 IR B 2R 0.5mol/L
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RPL: 3A(g)+B(g) = 2C(g) +2D(g), EARFKMT, ANEMRERERSER, 75754:
Ov(A)=0.6 mol/(L-min) @v(B)=0.45 mol/(L-min)

®v(C)=0.015 mol/(L-min) @v(D)=0.45 mol/(L-min)
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